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CHAPTER - 14

Factorisation

Questions carrying 1 mark each :-

Q.1 Factorise x2 + x.

Q.2 Is it correct : 3(x-4) = 3x -4.

Questions carrying 2 marks each :-

Q.3 Factorise 9a2 - 16b2

Q.4 Factorise 24x4 + 18x3

Q.5 Factorise 2a - 32a5

Q.6 Divide 32xy2 - 16x2y by 16 xy

Q.7 Evaluate (ax + ay + ax)
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Questions carrying 3 marks each :

Q.8 Factorise 1-a2 - 2ab - b2

Q.9 Resolve into factors : 2x2 - 3ax - 2a2

Q.10 Find the greatest common factor of - 4a3b2, 12a3b3c, 16a5bc.

Q.11 Divide (4x2-9) by (2x-3).

Q.12 Find and correct the error :-
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Q.13 Factorise (x4) - (y-z)4

Downloaded from www.studiestoday.com

Downloaded from www.studiestoday.com

w
w
w
.s
tu

di
es

to
da

y.
co

m



30

Multiple Choice Questions carrying 1mark each:-

Q.14 Division is opposite of

a) Subtraction b) Addition

c) Multiplication d) None of these
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